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interface LoopbackO

ip address 192.168.1.1 255.255.255.0
|
interface TunnelO

ip address 172.16.0.101 255.255.255.0
tunnel source Ethernet0/0

tunnel mode 1ipsec 1ipv4d

tunnel destination 10.0.0.2

tunnel protection ipsec profile phse2-prof
|

interface Ethernet0/0

ip address 10.0.0.1 255.255.255.0

crypto ikev2 proposal PHASEl-prop
encryption 3des aes-cbc-128
integrity shal
group 2
!
crypto ikev2 policy site-pol
proposal PHASEl-prop
!
crypto ikev2 keyring KEYRNG
peer peerl
address 10.0.0.2 255.255.255.0
hostname hostl
pre-shared-key local cisco
pre-shared-key remote cisco
!
crypto ikev2 profile IKEV2-SETUP
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match identity remote address 0.0.0.0
authentication remote pre-share
authentication local pre-share

keyring Tocal KEYRNG

Tifetime 120

!

crypto ipsec transform-set TS esp-3des esp-sha-hmac
!

crypto ipsec profile phse2-prof

set transform-set TS

set ikev2-profile IKEV2-SETUP

!

ip route 0.0.0.0 0.0.0.0 10.0.0.2

ip route 192.168.2.1 255.255.255.255 TunnelO

2tRE 2

crypto ikev2 proposal PHASEl-prop
encryption 3des aes-cbc-128
integrity shal
group 2
!
crypto ikev2 keyring KEYRNG
peer peer2
address 10.0.0.1 255.255.255.0
hostname host?2
pre-shared-key local cisco
pre-shared-key remote cisco
!
crypto ikev2 profile IKEV2-SETUP
match identity remote address 0.0.0.0
authentication remote pre-share
authentication local pre-share
keyring local KEYRNG
Tifetime 120
!
crypto ipsec transform-set TS esp-3des esp-sha-hmac
!
!
crypto ipsec profile phse2-prof
set transform-set TS
set ikev2-profile IKEV2-SETUP
!
interface Loopback0
ip address 192.168.2.1 255.255.255.0
!
interface Ethernet0/0
ip address 10.0.0.2 255.255.255.0
!
interface TunnelO
ip address 172.16.0.102 255.255.255.0
tunnel source Ethernet0/0
tunnel mode 1ipsec 1ipv4d
tunnel destination 10.0.0.1
tunnel protection ipsec profile phse2-prof
!
ip route 0.0.0.0

0.0.0 10.0.0.1
ip route 192.168.1.1 255.

0.
1. 55.255.255.255 Tunnel0
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deb crypto ikev2 packet
deb crypto ikev2 internal

2t E{ 1(7HAIR})
HIAIX] A

ClHa

cH<
2(Respc
L [PNPN

2l E 12 1o

ASA 10.0.0.29| &
% 3} acldt Yx|5t
= oZle =AF

LICH SA & AlEf

IKEv2:C|ATHA{0| M THZ! 7tX{ 27|

IKEv2:pak FOIM &= 2|

IKEV2:% =4 10.0.0.22 AIN 28 7| 71X 27|
IKEv2:EZ! E&0of X2t PHASE1-prop &7t
IKEv2:(1): IKE ZZZ MEH |[KEV2-SETUP
IKEv2:New ikev2 sa request admitted
IKEv2:2t &l 344 sa = 14 57}

*112 11 20:28:34.003:
*11¥ 112 20:28:34.003:
118 11 19:30:34.811:
118 11 19:30:34.811:
118 11 19:30:34.811:
112 11 19:30:34.811:
*118 112 19:30:34.811:

5 R Bl AIR| 4

H Diffie-Hellman

e SHBLIC

‘EI'FF_:‘ ‘_l'"g' crypto
ikev2 Aot PHASE1-
prop encryption
3des aes-chc-128
integrity shal
group 2crypto
ikev2 keyring
peerl address
10.0.0.2
255.255.255.0

hostname hostl

*112 112 19:30:34.811: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=0000000000000000 (I) MsgID =
00000000 CurState: IDLE O[HIE: EV_INIT_SA

*112 112 19:30:34.811: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=0000000000000000 (I) MsgID =
00000000 CurState: |_BLD_INIT O|H E: EV_GET_IKE_POLICY
*1128 112 19:30:34.811: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=0000000000000000 (I) MsgID =
00000000 CurState: I_BLD_INIT Event.:EV_SET_POLICY

112 11 19:30:34.811: IKEV2:(SA ID = 1): M El A MH

*112 112 19:30:34.811: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=0000000000000000 (I) MsgID =
00000000 CurState: |_BLD_INIT O|HIE: EV_CHK_AUTH4PKI

*112 112 19:30:34.811: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=0000000000000000 (I) MsgID =
00000000 CurState: I_BLD_INIT Event:EV_GEN_DH_KEY

*112 112 19:30:34.811: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=0000000000000000 (I) MsgID =
00000000 CurState: |_BLD_INIT O[#HE: EV_NO_EVENT

*118 112 19:30:34.811: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=0000000000000000 (I) MsgID =
00000000 CurState: |_BLD_INIT O[HIE:




pre-shared-key
Tocal cisco pre-
shared-key remote

cisco

EV_OK_RECD_DH_PUBKEY_RESP

*118 112 19:30:34.811: IKEV2:(SA ID = 1):24: Action_Null

*112 112 19:30:34.811: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=0000000000000000 (I) MsgID =
00000000 CurState: I_BLD_INIT O|HIE: EV_GET_CONFIG_MODE

118 112 19:30:34.811: IKEV2:IKEV2 7HA|A} - IKE_SA_INIT exchof| A
&8 74 o7t gl& Lt

112 112 19:30:34.811: IKEV2: EZIC 2 M&E 741|22io|M o0& 81

o.

[==]

*112 112 19:30:34.811: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=0000000000000000 (I) MsgID =
00000000 CurState: |_BLD_INIT O|#HE: EV_BLD_MSG

*112 112 19:30:34.811: IKEv2:Construct Vendor Specific Payload:
DELETE-REASON

*112 112 19:30:34.811: IKEv2:Construct Vendor Specific Payload:
(CUSTOM)

*112 112 19:30:34.811: IKEv2:Construct Notify Payload:
NAT_DETECTION_SOURCE_IP

*112 112 19:30:34.811: IKEv2:Construct Notify Payload:
NAT_DETECTION_DESTINATION_IP

FHAIREZ
IKE_INIT_SA I
g2 FEELICt o
Z|0oll& ISAKMP 3|
-
(SPl/version/flags),
SAI1(IKE 7HA|RF7}
X|#stE =3
ot 2|&), KEi(7H
AlXt2e| DH 74 7|
Zk) 2 N(ZHAIRF
Nonce)O| Z & &
L|C}.

*112 112 19:30:34.811: IKEV2:(SA ID = 1):Next payload: SA, version:
2.0 Exchange type: IKE_SA_INIT, flags:INITIATOR Message id: 0, length:
344
HO|IZE LHE:
SA CI2 H 0|2 E: KE, 042 0x0, Z0l: 56
ok x|2F A2t 0x0, 0 2F=: 0x0, Z0l: 52
Mot 1, Z2EEZ ID: IKE, SPI 3 71: 0, #trans: 5 OFX|2f 848+ 0x3, 01/ F:

0x0: Z20[: 8

F&: 1, ofef &= 0x0, id: 3DES

oFx|2f 848 0x3, 0| 2FEl: 0x0: 4Ol: 12

F&: 1, ofef: 0x0, ID: AES-CBC

obx|2f 848t 0x3, o 2f=l: 0x0: Z0l: 8

F&: 2, of|2FE: 0x0, id: SHA1

oFx|2k 848 0x3, of|2F&: 0x0: Z20]: 8

8. 3, of|2F=: 0x0, id: SHA96

OFx|2+ 242 0x0, of| 2F=: 0x0: Z0l: 8

F3: 4, 0o 2= 0x0, id: DH_GROUP_1024_MODP/Group 2
KE Ct2 HO|2E: N, 042k 0x0, Z10]: 136

DH 1&: 2, 0 2F&: 0x0
N Ct2 HO|ZE: VID, 0 2FE: 0x0, Z0l: 24
VID CI& HO|ZE: VID, 04 2F=: 0x0, Z0[: 23
VID C}& HO|Z=: NOTIFY, 0{ 2F&: 0x0, Z0l: 21
NOTIFY(NAT_DETECTION_SOURCE_IP) Next payload: NOTIFY,
reserved: 0x0, length: 28

Hot T2 EE ID: IKE, spi 271: 0, 8:
NAT_DETECTION_SOURCE_IP

o=
HA T,

of

NOTIFY(NAT_DETECTION_DESTINATION_IP) Ct & H 0|2 E.




oFE: 0x0, ZOl: 28
Hot T2 EZ ID: IKE, spi 271: 0, &:
NAT_DETECTION_DESTINATION_IP

Initiator 7+ IKE_INIT_SAE >

*118 112 19:30:34.814: IKEV2:C|ATH A0 THZ! 7} K2 7|
112 112 19:30:34.814: IKEv2:pak TOIA &2 %2

*112 112 19:30:34.814: IKEv2:New ikev2 sa request admitted
*118 112 19:30:34.814: IKEv2: =4l B & sa = 14 57}

SEA7E

IKE_INIT

AL

*Nov 11 19:30:34.814: IKEv2:Next payload: SA, version: 2.0 Exchange
type: IKE_SA_INIT, flags: INITIATOR Message id: 0, length: 344
HO|RZE LHS:
SA Next HO|2E: KE, 0{/2F: 0x0, Z0]: 56
oFx[2h &|eF: 0x0, of|2F=: 0x0, Z0l: 52
Mot 1, T2 EZ ID: IKE, SPI 3 7/: 0, #trans: 5 Ot X|2f #4&H: 0x3, o<
0x0: Z0l: 8
&1, o 2fF: 0x0, id: 3DES
IIIHCI'E.F 348t 0x3, 0| 2FE: 0x0: Z20[: 12
-1, of|ef: 0x0, ID: AES-CBC
|I|P7(|'1.F 4k 0x3, o 2FE: 0x0: Z0l: 8
3: 2, 04| 2FE: 0x0, id: SHA1
DW“* B48t: 0x3, of| 2 E: 0x0: Z0]: 8
7: 3, 0d[2FE: 0x0, id: SHA96
oFx[2h 848t 0x0, of|2f=: 0x0: Z20]: 8
£ 4, of2fE: 0x0, id: DH_GROUP_1024_MODP/Group 2
KE Ct& HO|2E: N, 0|2 E: 0x0, Z0l: 136
DH 1&: 2, 6| 2E: 0x0
N CH2 H 0|2 E: VID, 0i|2F&: 0x0, Z0[: 24

*112 112 19:30:34.814: IKEv2:Parse Vendor Specific Payload: CISCO-
DELETE-REASON VID Next HO|2=: VID, 0i2: 0x0, Z0]: 23
*118 112 19:30:34.814: IKEv2:Parse Vendor Specific Payload:
(CUSTOM) VID Next payload: NOTIFY, reserved: 0x0, length: 21
*Nov 11 19:30:34.814: IKEv2:Parse Notify Payload:
NAT_DETECTION_SOURCE_IP
NOTIFY(NAT_DETECTION_SOURCE_IP) Next payload: NOTIFY,
reserved: 0x0, length: 28

Hot T2 EE ID: IKE, spi 271: 0, 8:
NAT_DETECTION_SOURCE_IP
*Nov 11 19:30:34.814: IKEv2:Parse Notify H 0|2 E::
NAT_DETECTION_DESTINATION_IP
NOTIFY(NAT_DETECTION_DESTINATION_IP) Next payload: NONE,
reserved: 0x0, length: 28

Hot ZZEZ ID: IKE, spi 271: 0, f:

Respond
siE m|o
5t SA
AlEFEL




NAT_DETECTION_DESTINATION_IP

*1128 112 19:30:34.814: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: IDLE Event:EV_RECV_INIT

*112 112 19:30:34.814: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_INIT O|HIE:EV_VERIFY_MSG

*112 112 19:30:34.814: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_INIT O|HIE:EV_INSERT_SA

*112 112 19:30:34.814: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_INIT O|HIE:EV_GET_IKE_POLICY

118 112 19:30:34.814: IKEv2: %! H&of Mt 7|22 F7t

*112 112 19:30:34.814: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_INIT O|HIE:EV_PROC_MSG

*118 112 19:30:34.814: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_INIT O|HIE: EV_DETECT_NAT

*112 112 19:30:34.814: IKEV2:(SA ID = 1):Process NAT discovery notify
*1128 112 19:30:34.814: IKEV2:(SA ID = 1):NAT X 2| Al src €&l B X|
*118 112 19:30:34.814: IKEV2:(SA ID = 1): A2 T4 UX|

*118 112 19:30:34.814: IKEV2:(SA ID = 1):NAT & 2l, dst notify & X|
118 112 19:30:34.814: IKEV2:(SA ID = 1):2Z FA %]

*112 112 19:30:34.814: IKEV2:(SA ID = 1):NATE &2 =+ I3

*Nov 11 19:30:34.814: IKEv2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_INIT O|#HIE: EV_CHK_CONFIG_MODE

*112 112 19:30:34.814: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT O|HIE: EV_SET_POLICY

112 11 19:30:34.814: IKEV2:(SA ID = 1): M El 2 MH

*11¢2 112 19:30:34.814: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT O|HIE: EV_CHK_AUTH4PKI

*112 112 19:30:34.814: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT O|HE: EV_PKI_SESH_OPEN

*118 112 19:30:34.814: IKEV2:(SA ID = 1):PKI MM 27|

*112 112 19:30:34.815: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT Event:EV_GEN_DH_KEY

*11¢2 112 19:30:34.815: IKEV2:(SA ID = 1):SM Trace-> SA:

Respond
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|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT O|HE: EV_NO_EVENT

*112 11 19:30:34.815: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT Event:EV_OK_RECD_PUBKEY_RESP
*112 112 19:30:34.815: IKEV2:(SA ID = 1):Zd: Action_Null

*112 112 19:30:34.815: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT Event:EV_GEN_DH_SECRET

*112 112 19:30:34.822: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT O|HE: EV_NO_EVENT

118 11 19:30:34.822: IKEV2:% 24 10.0.0.12 A 37 7| 7t 7|
112 11 19:30:34.822: IKEv2: EZ! E&of Mot 7|22k F7t

*118 11 19:30:34.822: IKEV2:(2): IKE Z2E MEH |[KEV2-SETUP
*112 112 19:30:34.822: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT O|HE:
EV_OK_RECD_DH_SECRET_RESP

112 112 19:30:34.822: IKEV2:(SA ID = 1):&d: Action_Null

*112 112 19:30:34.822: IKEV2:(SA ID = 1):SM Trace-> SA:
I|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT Event:EV_GEN_SKEYID

112 11 19:30:34.822: IKEV2:(SA ID = 1):Generate skeyid

*112 11 19:30:34.822: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT O|HIE: EV_GET_CONFIG_MODE
*118 11 19:30:34.822: IKEV2:IKEV2 responder - IKE_SA_INIT exch0i| A
ME&e Au|ado|M ool eig

*118 112 19:30:34.822: IKEV2: EZC 2 M&E Zdu|as ol HlolE &

o

[==]

*1128 112 19:30:34.822: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_BLD_INIT O|HIE: EV_BLD_MSG

118 11 19:30:34.822: IKEv2: S S YA E HO| 2= T 4J: DELETE-
REASON

*112 112 19:30:34.822: IKEv2:Construct Vendor Specific Payload:
(CUSTOM)

*112 112 19:30:34.822: IKEv2:Construct Notify Payload:
NAT_DETECTION_SOURCE_IP

*112 112 19:30:34.822: IKEv2:Construct Notify Payload:
NAT_DETECTION_DESTINATION_IP

*112 112 19:30:34.822: IKEv2:Construct & & H 0|2 E.:
HTTP_CERT_LOOKUP_SUPPORTED

group 2 c
ikev2 key
KEYRNG pe
address
10.0.0.1
255.255.2
hostname
pre-share
Tocal cis
pre-share

remote ci




*118 112 19:30:34.822: IKEV2:(SA ID = 1):Next payload: SA, version:
2.0 Exchange type: IKE_SA_INIT, flags: RESPONDER MSG-RESPONSE
Message id: 0, length: 449
HO|IZE LHE:

SA Lt H 0|2 E: KE, 02f: 0x0, Z0l: 48

OFx[2F &2k 0x0, ofl&FE: 0x0, ZOl: 44

Mot 1, T2 EZ ID: IKE, SPI 37|: 0, #trans: 4 OFX|2+ 48 0x3, 0 2F:

0x0: Z0[: 12 2HRE 2
£&: 1, 0d2F: 0x0, ID: AES-CBC ASA10]| A
OFx|2k 48 0x3, of| 2F=: 0x0: Z20]: 8 tlst=
F&: 2, ofefEl: 0x0, id: SHA1 IKE_SA_
OFx|2f B4 0x3, 04| 2 E: 0x0: Z20l: 8 WES 2
{&: 3, 0 2F=: 0x0, id: SHA96 responde
oFx|2h #4ek: 0x0, 04| 2FE: 0x0: Z20l: 8 PN E=gE S
F&: 4, o 2f=: 0x0, id: DH_GROUP_1024_MODP/Group 2 Ct. o] ZH:

KE C}S HO|2E: N, 04/2f: 0x0, Z/0[: 136 = ISAKN
DH 1&: 2, o{2FE: 0x0 H(SPI/ E

N CHS HO|ZE: VID, 0| 2FE: 0x0, Z0l: 24 2i 1),

VID Ct& HO|Z=: VID, 04| 2F&: 0x0, Z0]: 23 SAr1(IKE

VID CHS HO|2Z=: NOTIFY, o 2F&!: 0x0, Z0]: 21 A7t ME

NOTIFY(NAT_DETECTION_SOURCE_IP) Next payload: NOTIFY, A3 2

reserved: 0x0, length: 28 &), KEr(
Hot ZZEZ ID: IKE, spi 271: 0, : Xto| DH

NAT_DETECTION_SOURCE_IP 7| 2 &

NOTIFY(NAT_DETECTION_DESTINATION_IP) Ct& HO|2E: Respond

CERTREQ, 0 2f&: 0x0, Z0l: 28 NonceZ}
Hot ZZEZ ID: IKE, spi 27I: 0, §: o UE

NAT_DETECTION_DESTINATION_IP

CERTREQ Ct& HO|2E=: NOTIFY, o 2F&: 0x0, Z0[: 105
PKIXQ| 215 A 13 Al & URL

NOTIFY(HTTP_CERT_LOOKUP_SUPPORTED) Ct2 HO|2E: 813, 0

oFEl: 0x0, Z0l: 8
Hot ZZEZ ID: IKE, spi 271: 0, f:

HTTP_CERT_LOOKUP_SUPPORTED

*112 112 19:30:34.822: IKEV2:(SA ID = 1):SM Trace-> SA:

|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =

00000000 CurState: INIT_DONE O|HIE: EV_DONE Router2:

*112 112 19:30:34.822: IKEV2:(SA ID = 1):Cisco DeleteReason Notify 7t )

£t A5} = resEponde

112 112 19:30:34.822: IKEv2:(SA ID = 1):SM Trace-> SA: f';,('fi”

|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID = ot =<

00000000 CurState: INIT_DONE O|tlE: EV_CHK4_ROLE
*112 112 19:30:34.822: IKEv2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsglID =




00000000 CurState: INIT_DONE O|HIE:EV_START_TMR

*1128 112 19:30:34.822: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000000 CurState: R_WAIT_AUTH O|HIE: EV_NO_EVENT

*118 112 19:30:34.822: IKEv2:New ikev2 sa request admitted

118 11 19:30:34.822: IKEv2: 2 & 34 & = 14 B 7}

Responder7} IKE_INIT_SA HIA|X|2

EHRE{ 12 B2 E
222 H

IKE_SA_INIT 2%
mZlg Al

*112 11 19:30:34.823: IKEv2:C|

AT T 71427 |_SPI=F074D8BBD5A59F0B

R_SPI=F94020DD8CB4B9C4 (R)
MsglID = 00000000 CurState:
INIT_DONE O|HIE
:EV_START_TMR

112 11 19:30:34.823: IKEv2:C|
ATHAO|AM ZHZ! 7HR{ 27|

*118 112 19:30:34.823: IKEv2:pak
FolM &= &Mel

SEA7t
IZMA
st EfO|O
EHgtLct

Router12 (1) 7HA|
XI DH H|& 7|7}
HALE| T (2) THA
Xt skeyid = A E
golstn 8

Melglct

k=1
=
=1
=

*112 112 19:30:34.823: IKEV2:(SA ID = 1):Next payload: SA, version:
2.0 Exchange type: IKE_SA_INIT, flags: RESPONDER MSG-RESPONSE
Message id: 0, length: 449
HO|IZE LHE:
SA Ct2 H|0|2E: KE, 0d2F: 0x0, Z10]: 48
OFX|2F A|CF: 0x0, 042 E: 0x0, Z/0[: 44
Aot 1, ZEEZ ID: IKE, SPI 271: 0, #trans: 4 OFX|2f B8+ 0x3, 04 2F:
0x0: Z0]: 12
F&: 1, of2f: 0x0, ID: AES-CBC
Ofx|ah g4t 0x3, o 2FE: 0x0: Z0]: 8
F&: 2, o|2FE: 0x0, id: SHA1
oFx|2h 848 0x3, of| 2F&: 0x0: Z20]: 8
S&: 3, of2FE: 0x0, id: SHA96
OFx|2k 842 0x0, of| 2F=: 0x0: Z0l: 8
F3: 4, 0o 2= 0x0, id: DH_GROUP_1024_MODP/Group 2
KE C}2 0|2 E: N, ol 2F: 0x0, Z0[: 136
DH 1&: 2, 0o 2F&: 0x0
N CI2 H|O|E=.: VID, 0of|2F&: 0x0, Z0|: 24

*112 112 19:30:34.823: IKEv2:Parse Vendor Specific Payload: CISCO-
DELETE-REASON VID Next HO|2E=: VID, 0i{<: 0x0, Z0]: 23

*112 112 19:30:34.823: IKEv2:Parse Vendor Specific Payload:
(CUSTOM) VID Next payload: NOTIFY, reserved: 0x0, length: 21

*Nov 11 19:30:34.823: IKEv2:Parse Notify Payload:
NAT_DETECTION_SOURCE_IP




NOTIFY(NAT_DETECTION_SOURCE_IP) Next payload: NOTIFY,
reserved: 0x0, length: 28

Hot ZZEZ ID: IKE, spi 271: 0, :
NAT_DETECTION_SOURCE_IP

*112d 112 19:30:34.824: IKEv2:Parse Notify H 0|2
NAT_DETECTION_DESTINATION_IP
NOTIFY(NAT_DETECTION_DESTINATION_IP) Next payload:
CERTREQ, 0d|2FEl: 0x0, Z0]: 28
Hot T2 EZ ID: IKE, spi 27: 0, :
NAT_DETECTION_DESTINATION_IP
CERTREQ C}& HO|2Z: NOTIFY, of|2F&: 0x0, Z0]: 105
PKIX2| 215 M QI3 = S Al & URL

*112 112 19:30:34.824: IKEv2:Parse Notify H 0|2
HTTP_CERT_LOOKUP_SUPPORTED
NOTIFY(HTTP_CERT_LOOKUP_SUPPORTED) Next payload: NONE,
reserved: 0x0, length: 8

Hot ZZEZ ID: IKE, spi 27]: 0, R&:
HTTP_CERT_LOOKUP_SUPPORTED

*112 112 19:30:34.824: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: |_WAIT_INIT O|HIE: EV_RECV_INIT

*112 112 19:30:34.824: IKEV2:(SA ID = 1):IKE_SA_INIT HIAIX| A2
*118 112 19:30:34.824: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000000 CurState: |_PROC_INIT O[#IE: EV_CHK4_NOTIFY

*112 112 19:30:34.824: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: I_PROC_INIT O|HIE: EV_VERIFY_MSG

*112 112 19:30:34.824: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: |_PROC_INIT O|HIE: EV_PROC_MSG

*118 112 19:30:34.824: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000000 CurState: |_PROC_INIT O|HIE: EV_DETECT_NAT

*112 112 19:30:34.824: IKEV2:(SA ID = 1):Process NAT discovery notify
*112 112 19:30:34.824: IKEV2:(SA ID = 1):NAT 2| Al src & & EFX|
*112 112 19:30:34.824: IKEV2:(SA ID = 1): A3 T4 LX|

*112 112 19:30:34.824: IKEV2:(SA ID = 1):NAT A2, dst notify & K|
*1128 112 19:30:34.824: IKEV2:(SA ID = 1): 24 T4 LX|

*113 112 19:30:34.824: IKEV2:(SA ID = 1):NATE &2 = QI8

*118 112 19:30:34.824: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000000 CurState: I_PROC_INIT O|HIE: EV_CHK_NAT_T




*112 112 19:30:34.824: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: |_PROC_INIT O[HIE: EV_CHK_CONFIG_MODE
*112 112 19:30:34.824: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: INIT_DONE O|HIE:EV_GEN_DH_SECRET

*112 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: INIT_DONE O[|HIE: EV_NO_EVENT

*112 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: INIT_DONE O|HIE: EV_OK_RECD_SECRET_RESP
*112 112 19:30:34.831: IKEV2:(SA ID = 1): 24 Action_Null

*118 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDSA59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: INIT_DONE O|HE:EV_GEN_SKEYID

*112 112 19:30:34.831: IKEV2:(SA ID = 1):Generate skeyid

*112 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: INIT_DONE O[|#HIE: EV_DONE

*112 112 19:30:34.831: IKEV2:(SA ID = 1):Cisco DeleteReason Notify 7t
2 435HE

*112 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: INIT_DONE O|HIE: EV_CHK4_ROLE

*118 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: |_BLD_AUTH O|HIE: EV_GET_CONFIG_MODE
*118 11 19:30:34.831: IKEv2: E A0l Z4x|18j|0|M Cllo|Ef &
*112 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: I_BLD_AUTH O|HIE: EV_CHK_EAP

Initiatore
IKE_AUTH &2
AlZtet D Q15 o
O|ZEE HMFL
Ct. IKE_AUTH IH
Zlol= ISAKMP &l
C(SPI/EH &/ Z i
1), IDi(O|L|Alof]
O|E{ ID), AUTH H|
O|2E,
SAi2(IKEv104 A
2CHA HE EEg n

*11€ 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000000 CurState: I_BLD_AUTH Event:EV_GEN_AUTH

*112 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: |_BLD_AUTH O|HIE: EV_CHK_AUTH_TYPE
*112 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000000 CurState: |_BLD_AUTH O|HIE: EV_OK_AUTH_GEN

*112 112 19:30:34.831: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000000 CurState: |_BLD_AUTH O|HIE: EV_SEND_AUTH




b initiator &
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=
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E%%ﬁ ;légicrypto
ipsec transform-
set TS esp-3des
esp-sha-hmac
crypto 1ipsec
profile phase2-
prof set
transform-set TS
set ikev2-profile

IKEV2-SETUP

*112 112 19:30:34.831: IKEv2:Construct Vendor Specific Payload:
CISCO-GRANITE
*112 112 19:30:34.831: IKEv2:Construct Notify Payload:
INITIAL_CONTACT
*112 112 19:30:34.831: IKEv2:Construct Notify Payload:
SET_WINDOW_SIZE
*11" 112 19:30:34.831: IKEv2:Construct Notify Payload:
ESP_TFC_NO_SUPPORT
*112 112 19:30:34.831: IKEv2:Construct Notify Payload:
NON_FIRST_FRAGS
HO|Z2E LHE:
VID Ct= HO|2E.: IDi, of|ef: 0x0, Z0l[: 20
IDi Ct= T O|2=: AUTH, reserved: 0x0, length: 12

ID R IPv4 F24, o 2FE: 0x0 0x0
Q15 Ct 2 HO|2E: CFG, 0i|2HE!: 0x0, Z0[: 28

215 & PSK, 0i|2FE: 0x0, 0i|2F & 0x0
CFG C}2 H0|ZE; SA, 0 2-E: 0x0, Z0l: 309

cfg 7&8: CFG_REQUEST, 0i2f&: 0x0, 0 2f=l: 0x0

*112 112 19:30:34.831: SA Next payload: TSi, reserved: 0x0, length: 40
oFx|2 Aot 0x0, 0i|2FE: 0x0, ZOl: 36
e([XeH1, T 2EEZ
0x0: Z0l: 8
F3: 1, 0 2F=E: 0x0, id: 3DES
oFx|2f #4428 0x3, 0| 2FE: 0x0: Z20[: 8
F&: 3, of2f=: 0x0, id: SHA96
OFx[2f #4Et: 0x0, od|2FE: 0x0: Z0[: 8
R&: 5, of|2FE: 0x0, id: ESN AFS OF &
TSi CHS HO|2E=: TSr, 0i 2FE: 0x0, Z0|: 24
TS %=: 1, reserved 0x0, reserved 0x0
TS 8&: TS_IPV4_ADDR_RANGE, ZZEZ ID: 0, Z0]: 16
AR ZE: 0, BF XE: 65535
AlZF F4:0.0.0.0,  FA: 255.255.255.255
TSr CHS HIO|2E: NOTIFY, of|2fEl: 0x0, Z0l[: 24
TS %=: 1, reserved 0x0, reserved 0x0
TS 98: TS_IPV4_ADDR_RANGE, ZZ2EZ
AEZE: 0, B XE: 65535
AlBF F£4:0.0.0.0, B F4: 255.255.255.255

id: ESP, SPI 3.7[: 4, #trans: 3 OFX|2f 48 0x3, 04 2

ID: 0, Z0l: 16

NOTIFY(INITIAL_CONTACT) Ct2 H 0|2 =: NOTIFY, oi2F&: 0x0, Z0l:
8
Hot T2 EZ |D: IKE, spi 271: 0, & INITIAL_CONTACT
NOTIFY(SET_WINDOW_SIZE) C}& 0|2 E: NOTIFY, of|2t&: 0x0, Z 0|
:12

Hot Z2EZE ID: IKE, spi 271: 0, 8: SET_WINDOW_SIZE
NOTIFY(ESP_TFC_NO_SUPPORT) Next payload: NOTIFY, reserved:




0x0, length: 8

Hot ZEEZ ID: IKE, spi 271: 0, #8: ESP_TFC_NO_SUPPORT
NOTIFY(NON_FIRST_FRAGS) Ct& H|0|2=: g3, of|2FE: 0x0, Z0l: 8
Hot ZEEZ ID: IKE, spi 271: 0, #3: NON_FIRST_FRAGS

*112 112 19:30:34.832: IKEV2:(SA ID = 1):Next payload: ENCR, version:

2.0 Exchange type: IKE_AUTH, flags: INITIATOR Message id: 1, length:
556

HO|2E LHS:

ENCR Ct2 HO|2E.: VID, of|2F&: 0x0, Z0l[: 528

*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
000000001 CurState: I_WAIT_AUTH O[HHE: EV_NO_EVENT

Initiator sent IKE_AUTH >

*112d 112 19:30:34.832: IKEV2:C|ATHR{ 0| A THZ! 7HX{2 7|
*112 11 19:30:34.832: IKEv2:pak F0lA &S &2

*112 112 19:30:34.832: IKEV2:(SA ID = 1):220{ mess_id 10|
.1~10| & L|C}.

A& LICH

*112 112 19:30:34.832: IKEV2:(SA ID = 1):Next payload: ENCR, version:

2.0 Exchange type: IKE_AUTH, flags: INITIATOR Message id: 1, length:

556

HO|RZE LHS:

*112 112 19:30:34.832: IKEv2:Parse Vendor Specific Payload:

(CUSTOM) VID Next payload: IDi, reserved: 0x0, length: 20

IDi Ct= HO|2=: AUTH, reserved: 0x0, length: 12

ID R&: IPv4 T4, of 2FE: 0x0 0x0

AUTH Next payload: CFG, 0of2F&: 0x0, Z0l: 28
R1E & PSK, 0 2FE: 0x0, of|f & 0x0

LLO o H

CFG C}2 HO|ZE; SA, 0| 2HE: OxO Z!0]: 309
cfg §&: CFG_REQUEST, 0{|2FEl: 0x0, 04| 2FE!: 0x0
118 112 19:30:34.832: E4 R&: LHE IP4 DNS, Z20[: 0
118 112 19:30:34.832: 54 F&: LIE IP4 DNS, Z0]: 0
118 112 19:30:34.832: 4 R8: LT IP4 NBNS, Z0]: 0
118 112 19:30:34.832: 4 R&: LIE IP4 NBNS, Z0]: 0
112 112 19:30:34.832: 54 |8: IT IP4 MEH!, Z0]: 0
112 11 19:30:34.832: &4 |R&: o E2|710|MH HH, ZO[: 257
Ed 88 & = 8 -28675, 20[: 0
118 112 19:30:34.832: £ . & = 815 - 28672, Z0[: 0
118 112 19:30:34.832: £ |8 & & Q13 - 28692, 7E'0|: 0
112 11 19:30:34.832: '8 R&: & &= 15 - 28681, Z0[: 0
112 112 19:30:34.832: &4 . & = g3 - 28674, Z0l: 0

*112 112 19:30:34.832: SA Next payload: TSi, reserved: 0x0, length: 40
ok x[2F AQt: 0x0, 0 2F&: 0x0, Z0l: 36

B 7x
crypto ip
ikev2 ips
proposal

protocol

encryptio
256 proto
esp integ
sha-1 md5




Mot 1, T2 EZ id: ESP, SPI 37| 4, #trans: 3 OFX|2} 848 0x3, 04 2F:
0x0: ZOl: 8
231, o 2=

ofxt gt

0x0, id: 3DES
0x3, 0 2FE: 0x0: Z0l: 8
K8: 3, of|2FE: 0x0, id: SHA96
Ofx|ah g4t 0x0, o 2FE: 0x0: Z0l: 8
2&: 5, o2k E: 0x0, id: ESN A oF &
TSi C2 HO|2E: TSr, o 2FE!: 0x0, Z0[: 24
TS £=: 1, reserved 0x0, reserved 0x0
TS &: TS_IPV4_ADDR_RANGE, ZZEZ ID: 0, Z0]: 16
AR ZE: 0, BF XE: 65535
AlEF F£48:0.0.0.0, T4 255.255.255.255
TSr CHS HIO|2E: NOTIFY, of|2fEl: 0x0, Z0l[: 24
TS #=: 1, reserved 0x0, reserved 0x0
TS &: TS_IPV4_ADDR_RANGE, ZZEZ ID: 0, Z0l: 16
ARt ZE: 0, BF XE: 65535
AR F4:0.0.0.0, 2 FA: 255.255.255.255

—

*112 112 19:30:34.832: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_WAIT_AUTH O|#HIE: EV_RECV_AUTH

*112 112 19:30:34.832: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_WAIT_AUTH O|HIE: EV_CHK_NAT_T

*11¢2 112 19:30:34.832: IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_WAIT_AUTH O|#HIE: EV_PROC_ID

*112 112 19:30:34.832: IKEV2:(SAID = 1): Z 2 MH|A IDHA R & O 7H
HeE HASLICH

*112 112 19:30:34.832: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_WAIT_AUTH O|HIE:
EV_CHK_IF_PEER_CERT_NEEDS_TO_BE_FETTED_FOR_PROF_SEL
*112 112 19:30:34.832: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_WAIT_AUTH O|HIE.:
EV_GET_POLICY_BY_PEERID

*112 112 19:30:34.833: IKEV2:(1): IKE T2 & MEH |[KEV2-SETUP
*118 112 19:30:34.833: IKEV2:% T4 10.0.0.12 A 3R] 7| 7t 7|
*118 112 19:30:34.833: IKEV2:% T4 10.0.0.12 A 3R] 7| 7t 7|
1128 112 19:30:34.833: IKEV2: 2 Z! H&Mof Aot 7|22t F7t

*1128 112 19:30:34.833: IKEV2:(SA ID = 1):IKEv2 Z 2 Z! '|IKEV2-SETUP'
AE

*Nov 11 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
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00000001 CurState: R_WAIT_AUTH O|HIE: EV_SET_POLICY

*118 112 19:30:34.833: IKEV2:(SA ID = 1): A& E M MY

*118 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_WAIT_AUTH O[HIE:
EV_VERIFY_POLICY_BY_PEERID

*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_WAIT_AUTH O[HIE: EV_CHK_AUTH4EAP
*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_WAIT_AUTH O|HIE: EV_CHK_POLREQEAP
*118 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_VERIFY_AUTH O|HIE: EV_CHK_AUTH_TYPE
*112d 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_VERIFY_AUTH O|HIE: EV_GET_PRESHR_KEY
*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_VERIFY_AUTH O|HIE: EV_VERIFY_AUTH
*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_VERIFY_AUTH O|HIE: EV_CHK4_IC

*118d 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_VERIFY_AUTH O|HIE: EV_CHK_REDIRECT
*“118 112 19:30:34.833: IKEV2:(SA ID = 1):2IC|2M &olo| R 3HK| o
oo ZAELCH

*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_VERIFY_AUTH O|HIE.
EV_NOTIFY_AUTH_DONE

*118 112 19:30:34.833: IKEV2:AAA & Mt 2047 FHE|X| ot
“112 112 19:30:34.833: IKEV2:AAA AL X} Het S2o47F L ME|X| oF S
*Nov 11 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_VERIFY_AUTH O|HIE: EV_CHK_CONFIG_MODE
*Nov 11 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_VERIFY_AUTH O|HIE.
EV_SET_RECD_CONFIG_MODE

*112 112 19:30:34.833: IKEV2: EZ!0l M Z4x| 22| 0M | O|E] = 2l:
*118d 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
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00000001 CurState: R_VERIFY_AUTH O|HIE: EV_PROC_SA TS

*Nov 11 19:30:34.833: IKEv2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_VERIFY_AUTH O|HIE: EV_GET_CONFIG_MODE
112 112 19:30:34.833; IKEv2: ZI|ado|ld 8L M 27

*118 112 19:30:34.833: IKEV2:EZIC 2 & & Zm|eio|M o0& &

o.

=

*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_BLD_AUTH O|HIE: EV_MY_AUTH_METHOD
*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_BLD_AUTH O|HIE: EV_GET_PRESHR_KEY
*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_BLD_AUTH O|HIE: EV_GEN_AUTH
*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_BLD_AUTH O|HIE: EV_CHK4_SIGN
*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_BLD_AUTH O|HIE: EV_OK_AUTH_GEN
*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: R_BLD_AUTH O|HIE: EV_SEND_AUTH
*11¢¥ 112 19:30:34.833: IKEv2:Construct Vendor Specific Payload:
CISCO-GRANITE
*112 112 19:30:34.833: IKEv2:Construct Notify Payload:
SET_WINDOW_SIZE
*112 112 19:30:34.833: IKEv2:Construct Notify Payload:
ESP_TFC_NO_SUPPORT

*112 11 19:30:34.833: IKEv2:Construct Notify Payload:
NON_FIRST_FRAGS

*11¢2 112 19:30:34.833: IKEV2:(SA ID = 1):Next payload: ENCR, version:
2.0 Exchange type: IKE_AUTH, flags: RESPONDER MSG-RESPONSE
Message id: 1, length: 252

HOo|2E LHS:

ENCR C}& HO|2E.: VID, oi|2FEl: 0x0, Z0[: 224

*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_OK

*112 11 19:30:34.833: IKEV2:(SA ID = 1): 2 d: Action_Null

*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =

Respond
IKE_AUT
CHet SE

LI




00000001 CurState: AUTH_DONE O|HIE: EV_PKI_SESH_CLOSE
112 11 19:30:34.833: IKEV2:(SA ID = 1):PKI MM EH 7|

*112 11 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_UPDATE_CAC_STATS
*112 112 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: AUTH_DONE O|HIE:EV_INSERT_IKE

*112 11 19:30:34.834: IKEv2:Store mib index ikev2 1, platform 60
*112 112 19:30:34.834: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_GEN_LOAD_IPSEC
*112 11 19:30:34.834: IKEV2:(SA ID = 1):H|S7| & CH7|

*112 11 19:30:34.834: IKEV2:(SA ID = 1):

*112 112 19:30:34.834: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_NO_EVENT

< SER7F IKE_AUTH

M&ELIcH

*112 112 19:30:34.840: IKEV2:(SA
ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R)
MsglID = 00000001 CurState:
AUTH_DONE O|HIE:
EV_OK_RECD_LOAD_IPSEC

*112& 11 19:30:34.840: IKEV2:(SA
ID = 1):&fd: Action_Null

*112 112 19:30:34.840: IKEV2:(SA

112 11 19:30:34.834: IKEv2:C| || D 1):SM Trace-> SA

Initiator? 1=11= 1 |_SPI=F074D8BBD5A59F0B
F;];;apngadLrEHEi ATAM W2 727 ] R_SPI=F94020DD8CB4BICA (R)  |[~esPond
- - o=
= - SADO &
sog saEUn|, . - : s
SEET 1Pl 1124 1190 19:30:34.834: IKEv2:pak 129D = 00000001 CurState AtelstL

AUTH_DONE O|HIE.:
EV_START_ACCT

*112& 11 19:30:34.840: IKEV2:(SA
ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R)
MsglID = 00000001 CurState:
AUTH_DONE O|HIE:
EV_CHECK_DUPE

*112 11 19:30:34.840: IKEV2:(SA
ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B

FolM &5 ME|




R_SPI=F94020DD8CB4B9C4 (R)
MsglID = 00000001 CurState:
AUTH_DONE O|H E.:
EV_CHK4_ROLE

*112 112 19:30:34.834: IKEV2:(SA ID = 1):Next payload: ENCR, version:
2.0 Exchange type: IKE_AUTH, flags: RESPONDER MSG-RESPONSE
Message id: 1, length: 252

HOo|2E LHS:

*112 112 19:30:34.834: IKEv2:Parse Vendor Specific Payload:
(CUSTOM) VID Next payload: IDr., reserved: 0x0, length: 20
IDr. CHS H|O| 2 =: AUTH, reserved: 0x0, length: 12
ID f&: IPv4 T4, of| 2FEl: 0x0 0x0
AUTH Ct= HO|2E: SA, o 2+E: 0x0, Z0l: 28
Q5 g PSK, of|2FE: 0x0, 0| 2FE 0x0
SA Ct2 HO|ZE: TSi, o|2FE: 0x0, Z0l: 40
o x|2k A eF: 0x0, 0 2k E: 0x0, Z0l: 36
Mot 1, T2 EZ id: ESP, SPI 37| 4, #trans: 3 OFX|2 848 0x3, 04 2F:
0x0: Z0l: 8
F38:1, o 2FE: 0x0, id: 3DES
oFx|et #4ek: 0x3, 04| 2FE: 0x0: Z20l: 8
F&: 3, of 2f=: 0x0, id: SHA96
ofx|ah g4t 0x0, o 2FE: 0x0: Z0l: 8
F&: 5, o2k E: 0x0, id: ESN A+ oF &
TSi CI2 HO|2E: TSr, 0| 2-E: 0x0, Z10[: 24
TS ==: 1, reserved 0x0, reserved 0x0
TS &: TS_IPV4_ADDR_RANGE, ZZEZ ID: 0, Z0]: 16
AZZE: 0, B2 LE: 65535
AlEF F£46:0.0.0.0, T4 255.255.255.255
TSr CHS HIO|2E: NOTIFY, of|2FE: 0x0, Z40l[: 24
TS #=: 1, reserved 0x0, reserved 0x0
TS &: TS_IPV4_ADDR_RANGE, ZZEZ ID: 0, Z0]: 16
AZHZE: 0, B2 LE: 65535
AlZF F4:0.0.0.0, B F4:255.255.255.255

Z2IRE{ 12 o] mjZ!
o| 01& Cllo|EHE
golstn MelgL
Ct. 2™ CHS 2t
E{ 12 0| SAE
SADO| & ghLict

*112 112 19:30:34.834: IKEv2:Parse Notify Payload:
SET_WINDOW_SIZE NOTIFY(SET_WINDOW_SIZE) Next payload:
NOTIFY, reserved: 0x0, length: 12

Hot T2 EZ ID: IKE, spi 371: 0, &: SET_WINDOW_SIZE

*Nov 11 19:30:34.834: IKEv2:Parse Notify Payload:
ESP_TFC_NO_SUPPORT NOTIFY(ESP_TFC_NO_SUPPORT) Next
payload: NOTIFY, reserved: 0x0, length: 8

Hot Z2EZ ID: IKE, spi 271: 0, &: ESP_TFC_NO_SUPPORT




*112 112 19:30:34.834: IKEv2:Parse Notify Payload:
NON_FIRST_FRAGS NOTIFY(NON_FIRST_FRAGS) Next payload:
NONE, reserved: 0x0, length: 8

Hot T2 EZ ID: IKE, spi 271: 0, #8: NON_FIRST_FRAGS

*112 112 19:30:34.834: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_WAIT_AUTH Event:EV_RECV_AUTH

*“118 112 19:30:34.834: IKEV2:(SA ID = 1):24: Action_Null

*112 112 19:30:34.834: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH O|HIE: EV_CHK4_NOTIFY
*118 112 19:30:34.834: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH Event:EV_PROC_MSG

*11¢2 112 19:30:34.834: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH O|HIE:;
EV_CHK_IF_PEER_CERT_NEEDS_TO_BE_FETCHED_FOR_PROF_SEL
*112 112 19:30:34.834: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH O[HIE.:
EV_GET_POLICY_BY_PEERID

*112 11 19:30:34.834: IKEv2: E %! 20| A2t PHASE1-prop F 7t
118 112 19:30:34.834: IKEV2:(SA ID = 1):IKEv2 Z 2 E '|KEV2-SETUP'
ALE

*112 112 19:30:34.834: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH O|HIE:;
EV_VERIFY_POLICY_BY_PEERID

*112 112 19:30:34.834: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH O|HIE: EV_CHK_AUTH_TYPE
*118d 112 19:30:34.834: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH O|HIE: EV_GET_PRESHR_KEY
*112 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH Event:EV_VERIFY_AUTH

*112 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH O|HIE: EV_CHK_EAP

*118 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =




00000001 CurState: I_PROC_AUTH Event:EV_NOTIFY_AUTH_DONE
*118 112 19:30:34.835: IKEV2:AAA 11 & TE 047t 2 EE|X| &t
112 11 19:30:34.835: IKEV2:AAA ALK} HEH 20471 2 HEIX| &t
*112 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH O|HIE: EV_CHK_CONFIG_MODE
*112 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000001 CurState: |_PROC_AUTH O|HIE: EV_CHK4_IC

*112 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000001 CurState: I|_PROC_AUTH O|HIE: EV_CHK_IKE_ONLY
*118 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: |_PROC_AUTH O|HIE: EV_PROC_SA_TS

*118 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_OK

*112 112 19:30:34.835: IKEV2:(SA ID = 1):2®3: Action_Null

*112 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_PKI_SESH_CLOSE
*112 112 19:30:34.835: IKEV2:(SA ID = 1):PKI MM E7|

*118 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_UPDATE_CAC_STATS
*112 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000001 CurState: AUTH_DONE O[|HIE: EV_INSERT_IKE

*112 11 19:30:34.835: IKEV2:Store mib index ikev2 1, platform 60
*112 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_GEN_LOAD_IPSEC
*112 112 19:30:34.835: IKEV2:(SA ID = 1):H|S7| 273 CH7|

*118 112 19:30:34.835: IKEV2:(SA ID = 1):

*11¢2 112 19:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_NO_EVENT

*“118 112 19:30:34.835: IKEV2:KMI HIA|X| 80| AF& E|RA&LICH =~ E
&40l gi&Lct.

112 112 19:30:34.835; IKEV2:KMI HIA|X| 127} AL E[A&LICH ==
E40| ei& L.

*112 112 19:30:34.835: IKEv2:No data to send in mode config set.
118 112 19:30:34.841: M4 801 CHEF SPI 0x9506D414 24 Q1A El




IKEv2:IDENT 2= 0x80000002 &7t

*112 11 19:30:34.841: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_OK_RECD_LOAD_IPSEC
*118d 112 19:30:34.841: IKEV2:(SA ID = 1):2d: Action_Null

*112 112 19:30:34.841: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_START_ACCT
118 11 19:30:34.841: IKEV2:(SA ID = 1): A 2|7} 2R35HK|
*118 11 19:30:34.841: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_CHECK_DUPE

*112 11 19:30:34.841: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I) MsgID =
00000001 CurState: AUTH_DONE O|HIE: EV_CHK4_ROLE

o
e

112 112 19:30:34.841: IKEV2:(SA|*11& 11 19:30:34.840: IKEV2:(SA
ID = 1):SM Trace-> SA: ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B |_SPI=F074D8BBD5A59F0B E{'Z0]
R_SPI=F94020DD8CB4B9C4 (I) R_SPI=F94020DD8CB4B9C4 (R) Respond
E{'2 0| Initiatorod |[MsgID = 00000001 CurState: MsglID = 00000001 CurState: MES 2
M 7t& 50|11 & |READYEvent: EV_CHK_IKE_ONLY ||READY O|HIE: EV_R_OK Ct. Resp1
Ei= READYZ E *M12 11 19:30:34.841: IKEV2:(SA|[*11& 11 19:30:34.840: IKEV2:(SA |[EAE2 2
AlE L}, ID = 1):SM Trace-> SA: ID = 1):SM Trace-> SA: O Z Initi:
|_SPI=F074D8BBD5A59F0B |_SPI=F074D8BBD5A59F0B Ch A 3
R_SPI=F94020DD8CB4B9C4 (I) R_SPI=F94020DD8CB4B9C4 (R)
MsgID = 00000001 CurState: MsgID = 00000001 CurState:
READY O[HIE: EV_|_OK READY O|HIE: EV_NO_EVENT
AtAl_SA CIHZ
Ol mEt2 CHl @ F/SE Mo 2 FHE|H IKEv1o|MH 2B A metoletn f&L|ch =7| metol &t
ZE & IKE_SAQ| 0= %J JEJOH AlEte = &Lt
Bt E{ 1 CHILD_SA HIA|X| &4 ClH CHE{ 2 CHILD_SA HIA|X| &

2t 2E{ 12 CHILD SA T EE Al
XtsFL|Ct. CREATE_CHILD SA 2
AelL|ct. CHILD _SA mZlol= &
Ao 2 Ctgo| ZEELIC.

+ SA FoM 5 el

HDR(version.flags/exchange
24)

*112 112 19:31:35.873: IKEv2:C|
AR M THZ! 7} K4 7]

*118 112 19:31:35.873: IKEV2:pak

*118 112 19:31:35.873: IKEV2:(SA




+ Nonce Ni(41EH AtEh):
CHILD_SA7} 7| 1
_I_E AHA—|E_|‘— 7=|o
KE I O|2 =2} nonc
LHX| etotof gFLCt.
SA H0|ZE
KEi(Z|-454 ALEh):
CREATE_CHILD_SA 20|
£ &7} DH 1 gtof Cht KE
HO|ZET MEiXMo= E§
! 4= Q04 CHILD_SAO]| CH
o|_|- X-|I:I- H||:|IA-|° I:I|_-_|. 7OI-E_=1|
StH EEE = JU&Lch
SA0| CtE DH O2E0| £
El 42 KEie Z7|At7t 85
K7t =2 o =2 of &5t
= 1E2| 404of Lt
XI-% _7|553|.|:I=|
CREATE_CHILD_SA 10|
ATistT CHE KEIZ CHA| Al
& 4 QgL

N(Notify payload-optional).
Notify Payload= 27F =71
ol AFE{ A 3HD} Zre X E O
O|E{E IKE |02 %
Ol AFE &L Notify
PayloadE & HIAIX|(YE
x-log o:<-|o| 7_|I=IE| |_|C_>|_
= x|7<-lo}-) My —lg|-(|KE o

(0]
fn
HL

ool'l_

Holl gie 9_%5 2ngh) E
£ dA&Xt 7SS LIELA

Lr [og=Jel ~IDIE +=435t7|
/et ZIEF HIAIX|of| LIEFS
£ Ql&LIct.ol
CREATE_CHILD_SA 1 &t0|
IKE_SA 0|Q|2| 7|&E SAE
relzdsts 42
REKEY_SA °°='9_| M
HOo|ZEE R QI
SAE AlHH3H{of °.=.H—|I:+. o
CREATE_CHILD_SA 1 &t0|
7|& SAE A= 0] ofL
M N HO|ZEE M3l of
2=

N

AUEL

%10l mess_id 30|
Ziegct

ID=2):2
Ct. 3~70|

112 11 19:31:35.873: IKEV2:(SA
ID = 2):Next payload: ENCR,
version: 2.0 Exchange type:
CREATE_CHILD_SA, flags:
INITIATOR Message id: 3, length:
396
HO|RE LHS:
SA CHZ HO|ZE: N, of|<F: 0x0, &
0[: 152
OFx|2k A OF: 0x0, 0d|2FEl: 0x0, ZO|
: 148
Mot 1, Z2EZ ID: IKE, SPI 37|

. 8, #trans: 15 OFX|2F 48t 0x3, o
oF: 0x0: Z0l: 12

&1, 02 0x0, ID: AES-CBC

oFx|et B4 0x3, 0d| 2FE: 0x0: &
0l: 12

F3:1, 0 <f: 0x0, ID: AES-CBC

OFx|2f B4 0x3, 0d| 2 &: 0x0: &
0l: 12

&1, ofef: 0x0, ID: AES-CBC

OFx|2h 48t 0x3, of| 2 E: 0x0: &
0l: 8

F: 2, 0| 2FE: 0x0, id: SHA512

oFx|2k 48t 0x3, of| 2 E: 0x0: &
0l: 8

3 2, o= 0x0, id: SHA384

oFx|2k 48t 0x3, of| 2 E: 0x0: &
0[: 8

3 2, o 2fEl: 0x0, id: SHA256

EIW':—H B48t: 0x3, of 2FE: 0x0: &
ol: 8

3: 2, of| 2FEl: 0x0, id: SHAT

|I|P7(|'1.F 342 0x3, o 2FE: 0x0: &4
0l: 8

8. 2, ofefE: 0x0, id: MD5

oFx|2f B48k: 0x3, of 2k E: 0x0: &
0l: 8

S8 3, of|2=: 0x0, id: SHA512

Opx|2t 248k 0x3, of| 2k E!: 0x0: Z
0|: 8

& 3, 04| 2F=E: 0x0, id: SHA384




OFx|at 24t 0x3, 0d 2FE: 0x0: &
0l: 8

S: 3, of|2F=: 0x0, id: SHA256

EIW':” B48t: 0x3, of 2FE: 0x0: &
ol: 8

33 3, 0| 2FE: 0x0, id: SHA96

|I|P7(|'1.F 248 0x3, 0| 2 E!: 0x0: &
0l: 8

S 3, of|2F=: 0x0, id: MD596

DW'E.* B4t 0x3, ol 2FE: 0x0: &
0l: 8

F3: 4, ofefE: 0x0, id:
DH_GROUP_1536_MODP/Group 5

obx|2k 48t 0x0, o 2FEl: 0x0: &
0l: 8

R 4, o 2FE: 0x0, id:
DH_GROUP_1024_MODP/Group 2
N C}= HO|2E: KE, 0|2 0x0, &
0[: 24
KE CHS HO|2E: NOTIFY, of| 2F&:
0x0, Z0l: 136

DH 1&: 2, i 2FE: 0x0

*112 11 19:31:35.874:
IKEv2:Parse Notify Payload:
SET_WINDOW_SIZE
NOTIFY(SET_WINDOW_SIZE) Next
payload: NONE, reserved: 0x0,
length: 12

Hot T2 EZ ID: IKE, spi 271: 0,

F&: SET_WINDOW_SIZE

*1128 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
READY O|HE:
EV_RECV_CREATE_CHILD

112 112 19:31:35.874: IKEV2:(SA
ID = 2):&f: Action_Null

*1128 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)




MsglID = 00000003 CurState:
CHILD_R_INIT O|HIE.:
EV_RECV_CREATE_CHILD

*113& 11 19:31:35.874: IKEV2:(SA
ID = 2): %3 Action_Null

*118 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_INIT O|H E.:
EV_VERIFY_MSG

1128 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_INIT O|HIE.;
EV_CHK_CC_TYPE

1128 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
I_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_IKE O|HIE:
EV_REKEY_IKESA

*112 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsgID = 00000003 CurState:
CHILD_R_IKE O|HIE:
EV_GET_IKE_POLICY

1128 11 19:31:35.874: IKEV2:%
F210.0.022 A 3] 7| 7tX
7

*113 112 19:31:35.874: IKEV2:%
F210.0.022 A 3] 7| 7tX
7

*113 112 19:31:35.874: IKEV2: &
Z! M=Hof X2t PHASE1-prop £7}
*1128 112 19:31:35.874: IKEV2:(SA
ID = 2):IKEv2 Z 2 Z! '|KEV2-
SETUP' AtE

*112 11Y 19:31:35.874: IKEV2:(SA




ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_IKE O[|HIE.
EV_PROC_MSG

*112 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_IKE O[HIE::
EV_SET_POLICY

*112 11 19:31:35.874: IKEV2:(SA
ID=2):FM8E HM 8y

*118 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_BLD_MSG O|HIE:
EV_GEN_DH_KEY

*113 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_BLD_MSG O|HIE:
EV_NO_EVENT

*113 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_BLD_MSG O|HIE:
EV_OK_RECD_PUBKEY_RESP
112 112 19:31:35.874: IKEV2:(SA
ID = 2):2d: Action_Null

*112 112 19:31:35.874: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_BLD_MSG O|HE
:EV_GEN_DH_SECRET




1128 112 19:31:35.881: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_BLD_MSG O|HIE.:
EV_NO_EVENT
*112 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_BLD_MSG O|HIE.:
EV_OK_RECD_DH_SECRET_RESP
*112 112 19:31:35.882: IKEV2:(SA
ID = 2):Z¢d: Action_Null
*118 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_BLD_MSG O|HIE.:
EV_BLD_MSG
*113& 11 19:31:35.882:
IKEv2:ConstructNotify H 0|2 =
SET_WINDOW_SIZE
HO|ZE LS:
SA CH2 HO|ZE: N, 0f|ef: 0x0, &
0l: 56

OFX|2F A OF: 0x0, 0d|2FE: 0x0, Z O]
: 562

Mot 1, T2 EZ ID: IKE, SPI 37|
- 8, #trans: 4 OFX|2t ._i._ 0x3, 04 <F:
0x0: Z40[: 12

S3: 1, 042 0x0, ID: AES-CBC

oFx|2t §48H: 0x3, o 2F=: 0x0: Z
0l: 8

23: 2, 0| 2F=l: 0x0, id: SHA1

|:||'7(|'1||' #HEk: 0x3, 0| 2F &= 0x0: &
0l: 8

S&: 3, of| 2= 0x0, id: SHA96

obx|ef 848t 0x0, ol 2FE: 0x0: &
0l: 8

78 4, of|2FE: 0x0, id:
DH_GROUP_1024_MODP/Group 2




N C}= mH 0|2 E: KE, 0|2F: 0x0, &
0l: 24
KE Ct2 HO|2Z: NOTIFY, of 2HE:
0x0, Z10[: 136

DH 1&: 2, 0 2FE: 0x0
oF2|(SET_WINDOW_SIZE) CHS |
O|2E: giF, of|2FE: 0x0, Z0[: 12

Hot T2 EZ D IKE, spi 27I: 0,

7. SET_WINDOW_SIZE

1128 112 19:31:35.869: IKEV2:(SA
ID = 2):Next payload: ENCR,
version: 2.0 Exchange type:
CREATE_CHILD_SA, flags:
INITIATOR Message id: 2, length:
460

HOo|2ZE LHE:

ENCR C}2 HO|ZE: SA, 0 2FE:
0x0, Z0l: 432

*112 11 19:31:35.873:
IKEv2:Construct Notify Payload:
SET_WINDOW_SIZE

HO|2E LHE:

SA CH2 HO|ZE: N, o ef: 0x0, &
0l: 152

OF X2k &9k 0x0, 0 2F=El: 0x0, ZOl:
148

Mot 1, Z2EZ ID: IKE, SPI 37|
8, #trans: 15 O X[2 B4t 0x3, of <F:
0x0: Z0]: 12

3 1, of|<F: 0x0, ID: AES-CBC

O x|2f 848k 0x3, 0| 2FE: 0x0: ZOl:
12

F&: 1, ofef: 0x0, ID: AES-CBC
oFx|2h #4E: 0x3, of| 2 E: 0x0: Z0l:
12

F3: 1, 0 2F: 0x0, ID: AES-CBC
OFx|9h g48t 0x3, of| 2 E: 0x0: Z0l:

01

* 10

F=l: 0x0, id: SHA512
0x3, ol 2F&: 0x0: Z4Ol:

> o
R
i
ri

O1F

10

]
ot

: 0x0, id: SHA384
x3, 0f|2FE: 0x0: Z4Ol:

EECEE
I
II
o
o

> g

EFRE{ 201 M 5= AIEN




Ol
i

0:
0

FE: 0x0, id: SHA256
0x3, o1/ 2f&: 0x0: Ol

: 01|

J

B
I
rE
r.wrl-

of| 2f El: 0x0, id: SHA1

0x3, 0| 2FE: 0x0: Z4Ol:

I

Ralli}4
I
rE
rﬂ-

El: 0x0, id: MD5
0x3, of|2F=l: 0x0: ZOl:

0%
IR
rE
ri

o
=
T 19

of 2F=: 0x0, id: SHA512
48t 0x3, 0 2F&: 0x0: ZOl:

Rali}'d
I
tob

, 0of|2F=l- 0x0, id: SHA384
H4Eh: 0x3, of| 2k &= 0x0: ZOl:

> o
1o
II

0f

10
o

T

El: 0x0, id: SHA256
0x3, of|2F=l: 0x0: ZOl:

> o
IR
i
ri

, of| 2F=: 0x0, id: SHA96
gh: 0x3, of|2F&: 0x0: 4Ol:

Ral 3
IR
rE

Ol
i

01| OFEl: 0x0, id: MD596
: 0x3, of|2F&l: 0x0: €Ol

0
1o
II
s 2

A

0

- 4, 04| 2FE: 0x0, id:
ROUP_1536_MODP/Group 5
FE4E: 0x0, 0 2FE: 0x0: ZOl:

T
oo

1
d

P22 HPPEJHRP2HPEJHR®2HH®L4®2 4 *®L4®

&: 4, of|2FE: 0x0, id:
H_GROUP_1024_MODP/Group 2
N C}S HO|2E: KE, 0f|2F: 0x0, &
0l: 24

KE Cl2 H 0|2 E: NOTIFY, of 2k E:
0x0, Z0l: 136

DH 1&: 2, 0 2E: 0x0
oF2|(SET_WINDOW_SIZE) CH= |
O|2E: g1, of2kE: 0x0, Z0]: 12
Hot ZZEZ D: IKE, spi 27! 0,
{&: SET_WINDOW_SIZE

O

1128 112 19:31:35.882: IKEV2:(SA
ID = 2):Next payload: ENCR,
version: 2.0 Exchange type:
CREATE_CHILD_SA, flags:

O|A| 2+<2E{ 204 A CHILD_SA 1
gtoll CHEr 3| A2 EMFHLICEH
CREATE_CHILD_SA & QlL
CHILD_SA miZloi= ¢Et™o g
CtZo| ZaEulct




RESPONDER MSG-RESPONSE
Message id: 3, length: 300
HOo|ZE L8
SACIS HO|ZE: N, 0f2F: 0x0, Z
0l: 56
OFx|2f A|QF: 0x0, 0d|2FE: 0x0, Z 0|

: 52

Mot 1, Z2EZ ID: IKE, SPI 37|
. 8, #trans: 4 OFX|8F B4 0x3, o 2F:
0x0: Z0[: 12

F3:1, 0d<f: 0x0, ID: AES-CBC

oFx|ef 848t 0x3, ol 2FE: 0x0: &
0|: 8

F3: 2, o 2= 0x0, id: SHA1

DHEI'%F B4Ek: 0x3, 0d|2f & 0x0: &
0l: 8

f&: 3, 0 2= 0x0, id: SHA96

OFx|at 24 0x0, 04| 2FE: 0x0: &
0l: 8

FE: 4, o 2FE: 0x0, id:
DH_GROUP_1024_MODP/Group 2
N C}S HO|2E: KE, 0f|2F: 0x0, &
0l: 24
KE CI= HO|2=: NOTIFY, 0 2f&=:
0x0, Z0l[: 136

DH &: 2, o 2+E: 0x0

*112 112 19:31:35.882:
IKEv2:Parse Notify Payload:
SET_WINDOW_SIZE
NOTIFY(SET_WINDOW_SIZE) Next
payload: NONE, reserved: 0x0,
length: 12

Hot T2 E 2 ID: IKE, spi 27I: 0,

23 SET WINDOW_SIZE

*118 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (I)
MsglID = 00000003 CurState:
CHILD_I_WAIT O[HIE.
EV_RECV_CREATE_CHILD

*113& 11 19:31:35.882: IKEV2:(SA
ID = 2): %3 Action_Null

SA
HDR(version.flags/exchar

23)

Nonce Ni(A1E4 AHE):
CHILD_SAZ} Z7| m gt 9|
22 M= B F B
KE H 0|2 =2} nonceE &
LHX| efotof g LCt.
SAHO|ZE

KEi(Z|-M&4 AFE:
CREATE_CHILD_SA %
= F7} DH . &hof| cHEt K
HOo|REV} MEAMOZ &
Z %= /0] CHILD_SAO0]| C
ol_} x-||:|- H'EIIA-lo |=||:|. %I-E_
StAH E&E = U&Lct.
SAO| C}2 DH 1E0| £3%
El B2 KEie £7IX7t 8
X7t *ag Hdo 2 ofals
Q4040F BFL|C

%EH StOd CHE KEI2 I:I-Al
L atiok gfLCH.

N(Notify payload-optional)
Notify Payload= 257 =7
ol A ®MEtDF e XE

O|E{€ IKE 1|02 &35t
Ol AF2ZEL|C}. Notlfy
PayloadE S%& MHIA|X|(Y

HO2 230| 3 o

M35t7| @8l CHE HIAIX|o
LIELS = QJ& Lt O
CREATE_CHILD SA 1 &
IKE_SA7} ot 7| & SAE
Mz sl E32
REKEY_SA S&9| M& N
HO|2E & RHQ/2d SOl
SAE AlsHoF gL ct. Of
CREATE_CHILD_SA 1 &
7|& SAE A= 0| ot




112 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (I)
MsglID = 00000003 CurState:
CHILD_I_PROC O|HIE.:
EV_CHK4_NOTIFY

*112 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 ()
MsglID = 00000003 CurState:
CHILD_I_PROC O[HIE:
EV_VERIFY_MSG

*112 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (1)
MsglID = 00000003 CurState:
CHILD_I_PROC O[HIE.:
EV_PROC_MSG

1128 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (I)
MsglID = 00000003 CurState:
CHILD_I_PROC O|HIE:
EV_CHK4_PFS

112 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
I_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 ()
MsglID = 00000003 CurState:
CHILD_I_PROC O[HIE:
EV_GEN_DH_SECRET

*112 112 19:31:35.890: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (1)
MsglID = 00000003 CurState:
CHILD_I_PROC O[HIE.:
EV_NO_EVENT

1128 112 19:31:35.890: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6

AN HOIZEE
L.

&=rat o

2l 2El 2
M 5t SA




R_SPI=F14E2BBA78024DE3 ()
MsglID = 00000003 CurState:
CHILD_I_PROC O[HIE:
EV_OK_RECD_DH_SECRET_RESP
*112 11Y 19:31:35.890: IKEV2:(SA
ID = 2):Z¢d: Action_Null

*118 112 19:31:35.890: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 ()
MsglID = 00000003 CurState:
CHILD_I_PROC O[HIE.:
EV_CHK_IKE_REKEY

*113& 11 19:31:35.890: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (1)
MsgID = 00000003 CurState:
CHILD_I_PROC O[HIE:
EV_GEN_SKEYID

1128 112 19:31:35.890: IKEV2:(SA
ID = 2):Generate skeyid

*1128 112 19:31:35.890: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (I)
MsglID = 00000003 CurState:
CHILD_I_DONE O[|HIE.:
EV_ACTIVATE_NEW_SA

112 112 19:31:35.890: IKEV2:(SA
ID = 2):SM Trace-> SA:
I_SPI=0C33DB40DBAADE®6
R_SPI=F14E2BBA78024DE3 (I)
MsglID = 00000003 CurState:
CHILD_I_DONE O|HIE.:
EV_UPDATE_CAC_STATS

*112 112 19:31:35.890:
IKEv2:New ikev2 sa request
activated

*112 112 19:31:35.890: IKEv2: &
M Yol =8 £0|X| ZRIGLICH
*1128 112 19:31:35.890: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (I)




MsglID = 00000003 CurState:
CHILD_I_DONE O[HIE.:
EV_CHECK_DUPE

*112& 11 19:31:35.890: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (1)
MsglID = 00000003 CurState:
CHILD_I_DONE O|HIE: EV_OK
112 112 19:31:35.890: IKEV2:(SA
ID = 2):SM Trace-> SA:
I_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (I)
MsgID = 00000003 CurState: EXIT
O|HIE: EV_CHK_PENDING

*112 112 19:31:35.890: IKEV2:(SA
ID = 2): HIAIX| ID7} 32! M2|E S
, Oagl H{O | 8ol|_||_-_|._

118 11 19.31:35.890: IKEV2:(SA
ID = 2):SM Trace-> SA:
I_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (1)
MsgID = 0000003 CurState: EXIT
Event: EV_NO_EVENT

E+$E1 12 BIRE{ 22 8E 8
5t CHILD SA &4
._FE?:.*L—IEP.

*118 112 19:31:35.882: IKEV2:(SA
ID = 2):Next payload: ENCR,
version: 2.0 Exchange type:
CREATE_CHILD_SA, flags:
RESPONDER MSG-RESPONSE
Message id: 3, length: 300

HOo|2E LS:

ENCR CtZ HO|2E: SA, o 2FE!:
0x0, Z0[: 272

*118 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsgID = 00000003 CurState:
CHILD_R_BLD_MSG O|HE
‘EV_CHK_IKE_REKEY

*112& 11 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6




R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_BLD_MSG O|HIE.:
EV_GEN_SKEYID

*112 112 19:31:35.882: IKEV2:(SA
ID = 2):Generate skeyid

*118 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_DONE O|H E
:EV_ACTIVATE_NEW_SA

*113& 11 19:31:35.882:
IKEv2:Store mib index ikev2 3,
platform 62

*118 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_DONE O|HI E:
EV_UPDATE_CAC_STATS

*113& 11 19:31:35.882:
IKEv2:New ikev2 sa request
activated

*113 112 19:31:35.882: IKEv2: <~
A Feofl Ciet =8 EOIX| Z3l&
LICH

112 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
I_SPI=0C33DB40DBAADE®6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_DONE O[HIE:
EV_CHECK_DUPE

*118 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_DONE O|HIE: EV_OK
1128 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
I_SPI1=0C33DB40DBAADEG6




R_SPI=F14E2BBA78024DE3 (R)
MsglID = 00000003 CurState:
CHILD_R_DONE O|HIE:
EV_START_DEL_NEG_TMR.

*112 112 19:31:35.882: IKEV2:(SA
ID = 2):Z¢d: Action_Null

*118 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsgID = 00000003 CurState: EXIT
O|HIE: EV_CHK_PENDING

*112 112 19:31:35.882: IKEV2:(SA
ID =2):HA|X[ID 30| =& = & ™
&, 4~8 HRlolM 2 =8 7t
*112 112 19:31:35.882: IKEV2:(SA
ID = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAADEG6
R_SPI=F14E2BBA78024DE3 (R)
MsgID = 0000003 CurState: EXIT
Event: EV_NO_EVENT

<#root>

show crypto i kev2 sa detailed

ctRE 1 &3

<#root>
Routerl#

show crypto i kev2 sa detailed

IPv4 Crypto IKEv2 SA

Tunnel-id Local Remote

fvrf/ivrf

Status



1 10.0.0.1/500 10.0.0.2/500 none/none READY
Encr: AES-CBC, keysize: 128,
Hash: SHA96, DH Grp:2,
Auth sign: PSK, Auth verify: PSK
Life/Active Time: 120/10 sec
CE id: 1006, Session-id: 4
Status Description: Negotiation done
Local spi: E58F925107F8B73F Remote spi: AFD098F4147869DA
Local 1id: 10.0.0.1
Remote 1id: 10.0.0.2

Local req msg id: 2 Remote req msg id: O
Local next msg id: 2 Remote next msg id: O
Local req queued: 2 Remote req queued: O
Local window: 5 Remote window: 5
DPD configured for 0 seconds, retry 0
NAT-T is not detected
Cisco Trust Security SGT is disabled
Initiator of SA : Yes
BtRE 2 £
<#root>
Router2#
show crypto i kev2 sa detailed
IPv4 Crypto IKEv2 SA
Tunnel-id Local Remote fvrf/ivrf Status
2 10.0.0.2/500 10.0.0.1/500 none/none READY

Encr: AES-CBC, keysize: 128, Hash: SHA96,
DH Grp:2, Auth sign: PSK, Auth verify: PSK
Life/Active Time: 120/37 sec
CE 1id: 1006, Session-id: 4
Status Description: Negotiation done
Local spi: AFD098F4147869DA Remote spi: E58F925107F8B73F
Local 1id: 10.0.0.2
Remote id: 10.0.0.1
Local req msg id: O Remote req msg id:
Local next msg id: O Remote next msg id:
Local req queued: O Remote req queued:
Local window: 5 Remote window:
DPD configured for 0 seconds, retry 0
NAT-T is not detected
Cisco Trust Security SGT is disabled
Initiator of SA : No

uUT N NN



show crypto ipsec sa

N 23 ol Z2olME IKEVITH Tl X #m Eid #14 Sofl PFS DH I8 2k0] "PFS (Y/N): N,
DH group: none"S 2 LtEFLEX|DH, rekey 7t EH et F0i= SHHE Z2LO| LIEFELICE O] S&2
Cisco {1 ID CSCug6705601 B [0 AU X|BF {2 = ot EL|Ct. (S5 &l Cisco AFSAtHEF LY
2 Cisco 8 £&= HEol| HMAE £ A&LICt)

IKEv1Zt IKEv22| RO 2 F XA 512 SAE AUTH 1 XtA|o R 2 M EICH=E MY

Lict et5 3t 2 ool +AE DH IE2 7| RHAEY S0 2t AFSELICE et A Bl 7

MAH FMIKIE 'PFS (Y/N): N, DH group: none'0| E A|EILIC}H

IKEv10i M= ot SA 40| & 2= S0 =L/ CREATE_CHILD_SA HIA|X[0od|= Af

Ze A4S E npAsto| /s DH OH7HE4 48 X|& 5= Key Exchange HO|2EE MEstE =
EH|T™O| U= 2 CHE SE0| EA|IELCY.

ctRE 1 &3

<#root>
Routerl#

show crypto ipsec sa

interface: TunnelO
Crypto map tag: TunnelO-head-0,
local addr 10.0.0.1

protected vrf: (none)
local 1ident (addr/mask/prot/port):
(0.0.0.0/0.0.0.0/256/0)
remote ident (addr/mask/prot/port):
(0.0.0.0/0.0.0.0/256/0)
current_peer 10.0.0.2 port 500
PERMIT, flags={origin_is_acl,}
#pkts encaps: 10, #pkts encrypt:
10, #pkts digest: 10
#pkts decaps: 10, #pkts decrypt:
10, #pkts verify: 10
#pkts compressed: 0, #pkts decompressed: 0
#pkts not compressed: 0, #pkts compr. failed: 0
#pkts not decompressed: 0, #pkts decompress failed: 0
#send errors 0, #recv errors 0

local crypto endpt.: 10.0.0.1,
remote crypto endpt.: 10.0.0.2
path mtu 1500, ip mtu 1500, ip mtu idb Ethernet0/0
current outbound spi: OxF6083ADD(4127734493)
PFS (Y/N): N, DH group: none

inbound esp sas:
spi: 0x6B74CB79(1802816377)
transform: esp-3des esp-sha-hmac ,
in use settings ={Tunnel, }
conn id: 18, flow_id: Sw:18,
sibTing_flags 80000040,



crypto map: TunnelO-head-0
sa timing: remaining key lifetime (k/sec):
(4276853/3592)
IV size: 8 bytes
replay detection support: Y
Status: ACTIVE(ACTIVE)

inbound ah sas:
inbound pcp sas:

outbound esp sas:

spi: OxF6083ADD(4127734493)
transform: esp-3des esp-sha-hmac ,
in use settings ={Tunnel, }
conn id: 17, flow_id: SW:17,
sibling_fTags 80000040,
crypto map: TunnelO-head-0
sa timing: remaining key
Tifetime (k/sec): (4276853/3592)
IV size: 8 bytes
replay detection support: Y
Status: ACTIVE(ACTIVE)

outbound ah sas:

outbound pcp sas:

ctRE{ 2 &3

<#root>
Router2#

show crypto ipsec sa

interface: TunnelO
Crypto map tag: TunnelO-head-0, local addr 10.0.0.2

protected vrf: (none)

local 1ident (addr/mask/prot/port):

remote ident (addr/mask/prot/port):

current_peer 10.0.0.1 port 500
PERMIT, flags={origin_is_acl,}

#pkts encaps: 5, #pkts encrypt: 5, #pkts digest: 5

#pkts decaps: 5, #pkts decrypt: 5, #pkts verify: 5

#pkts compressed: 0, #pkts decompressed: 0

#pkts not compressed: 0, #pkts compr. failed: 0

#pkts not decompressed: 0, #pkts decompress failed: 0

#send errors 0, #recv errors 0

.0.0/256/0)

(0.0.0.0/0.0
(0.0.0.0/0.0.0.0/256/0)

local crypto endpt.: 10.0.0.2,
remote crypto endpt.: 10.0.0.1
path mtu 1500, ip mtu 1500, ip mtu idb Ethernet0/0
current outbound spi: O0x6B74CB79(1802816377)
PFS (Y/N): N, DH group: none



inbound esp sas:
spi: OxF6083ADD(4127734493)
transform: esp-3des esp-sha-hmac ,
in use settings ={Tunnel, }
conn id: 17, flow_id: SW:17,
sibling_fTags 80000040,
crypto map: TunnelO-head-0
sa timing: remaining key lifetime
(k/sec): (4347479/3584)
IV size: 8 bytes
replay detection support: Y
Status: ACTIVE(ACTIVE)

inbound ah sas:
inbound pcp sas:

outbound esp sas:
spi: 0x6B74CB79(1802816377)
transform: esp-3des esp-sha-hmac ,
in use settings ={Tunnel, }
conn 1id: 18, flow_id: SW:18,
sibling_fTags 80000040,
crypto map: TunnelO-head-0
sa timing: remaining key
Tifetime (k/sec): (4347479/3584)
IV size: 8 bytes
replay detection support: Y
Status: ACTIVE(ACTIVE)

outbound ah sas:

outbound pcp sas:

5 2FE{0ll M show crypto session BHE 0| £ 2 =g = J&LICE O 232 HE MM &
EfE UP-ACTIVEZ EA|ZHL|C}

<#root>
Routerl#

show crypto session

Crypto session current status

Interface: TunnelO
Session status: UP-ACTIVE
Peer: 10.0.0.2 port 500
IKEv2 SA: Tocal 10.0.0.1/500 remote 10.0.0.2/500 Active
IPSEC FLOW: permit ip 0.0.0.0/0.0.0.0 0.0.0.0/0.0.0.0
Active SAs: 2, origin: crypto map

Router2#

show cry session

Crypto session current status



Interface: TunnelO

Session status: UP-ACTIVE

Peer: 10.0.0.1 port 500

IKEv2 SA: local 10.0.0.2/500 remote 10.0.0.1/500 Active

IPSEC FLOW: permit ip 0.0.0.0/0.0.0.0 0.0.0.0/0.0.0.0
Active SAs: 2, origin: crypto map

EZ oY C|HI
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https://www.cisco.com/c/ko_kr/support/docs/security-vpn/ipsec-negotiation-ike-protocols/115936-understanding-ikev2-packet-exch-debug.html
https://www.cisco.com/c/ko_kr/support/docs/security-vpn/ipsec-negotiation-ike-protocols/115936-understanding-ikev2-packet-exch-debug.html
https://www.cisco.com/c/ko_kr/support/index.html?referring_site=bodynav
https://www.cisco.com/c/ko_kr/support/index.html?referring_site=bodynav
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